MATH 1314

Section 6.1, 6.2



Solving 2 x 2 Linear Systems

To solve a system of two linear equations

{ax+by=c}
dx +ey=f

means to find values for x and y that satisfy both equations.
The system will have exactly one solution, no solution, or infinitely many solutions.
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1. Exactly one solution, will look like:
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2. No solution, will look like:
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Example 1: Solve the following systems of linear equations by the substitution method.
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Example 2 : Solve the following systems of linear equations by the substitution method

x-2y=3

2x -4y =7
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Example 3: Solve the following systems by the Elimination Method.
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Example 4: Solve the following systems by the Elimination Method.
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Application Question:

Two integers have a sum of 35. The difference when subtracting the
larger from twice the smaller is 10. What are the two numbers?
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At a certain university, most courses carry 3 credits, the exception being (6 0?{13
science courses that have a laboratory component, which carry 4 credits. All QOW 7}1100
courses are billed at S350 per credit. To defer the cost of materials used in Y% s
class, studio art courses have an additional fee of $150 and lab science courses {6 0
have an additional fee of $250. All enrolled students must pay a student
activity fee of $300, a technology fee of $150, and a security fee of $200.

Application Problem:

For the current semester, you enrolled in 5 courses, for a total of 16 credits, and
received a bill of $6800. How many lecture courses, lab courses, and studio
courses did you enroll in? {o
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